24 vy
HaEp
[l 1
(1) (2)
vo =,/ 291 (m/s) v =|m;;":A|vA (m/s)
(3)
apn=—lg (m/s?) ag = Iv‘,an_:g (m/s?)
(4)
apa = —ﬂ'%g (m/s?]

(5)

MR IR B OO RIE A OHRE A vga &l T D &

,mA+MB

(6)

Vpa =Va tapal =Vp— U My, gt
E o= Mpvp [S]
L7 Y (ma+Mp)g
FHE EBEIERAFEILY
muavy = (my + M)V,
Vv, =—A (m/s]

= ma+Mp A

(7)

HE o R LR —RAFRAI LY

1 2 1 2 l
5 MaVA — 5 (mp + Mp)Vi = pw'mpgly

Mgv?
BVA [m]

L,=——B4A
17 24/ (mp+Mp)g




7 47]:;2 4 k %

7 N=4nkQ o= IRy
4 B o5

¥  KR— (EEA) 7 n

o RS A A R
(54 % F)

A Rlpsin ot

¥ wLly cos wt £721% wLl,sin (wt + g)

_do a _Io_-( __E)
A wccoswt el —csin wt )

+ JRZ - (a)L ~ ﬁ)z

1
y  2lwc 5 RITAT )b
R
F 2 F
7y ik G AT




fiRE 3
(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

f=yr - v=NT

205 = asnfz(£-2)), (aunfn (11~3))

y'(x9,t) = asin {21{ (% - -39-)}, (asin {Zﬂ (f £t~ J—ZQ)D

0= asinfzn(5-%) +). (-asnfon (2], — asnfan(re—3)

y"(x,t) = —asin {21{ (;;* - -21‘/’{:{)}, (—asin {27{ -;— + i—-— %"-)})

EHE GEER)

Y(x,t) = y(x,t) + y"(x,t) = asin {21{ (;t; - i—)} — asin {Zn (t + -;— 3’-‘2)}

— 2acos {2 (£~ )} sin 2 (22}

RiE = |2asin {er (x"_x)}iJ: b 2n (x°;x) =mnr (m=0,+1,42-)

i

x=x0+—’;-l (m=0,-1,-2--) or x=x0——’;il (m=0,12-)

1)




fHE 4

(1)
A V= =
JtE T hf
hflc BT ¥

A

ORI B5 e )
~Y A

(2
4 2




